Answer of Ex 4c

18)
Find the real value of x satisfying the equation 
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Ans:
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  (Since 
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Since 
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Solve the following equations : (19-21)

19)
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Answer : 
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22)
Solve for x, y. 
[image: image26.wmf]î

í

ì

=

+

=

-

1

log

log

0

log

4

log

y

x

y

x

x

y



Answer: 



[image: image27.wmf]ï

î

ï

í

ì

î

í

ì

=

+

=

-

Þ

=

+

=

-

Þ

î

í

ì

=

+

=

-

1

log

log

0

log

4

log

1

log

log

0

log

log

4

log

log

1

log

log

0

log

4

log

2

2

y

x

y

x

y

x

x

y

y

x

y

x

y

x

x

y




[image: image28.wmf](

)

(

)

î

í

ì

î

í

ì

=

+

=

+

=

+

=

-

Þ

î

í

ì

=

+

=

+

-

Þ

1

log

log

0

log

2

log

1

log

log

0

log

2

log

1

log

log

0

log

2

log

log

2

log

y

x

y

x

or

y

x

y

x

y

x

y

x

y

x




[image: image29.wmf]ï

î

ï

í

ì

ï

î

ï

í

ì

ï

î

ï

í

ì

ï

î

ï

í

ì

î

í

ì

=

=

î

í

ì

=

=

Þ

-

=

=

=

=

Þ

-

=

=

=

=

Þ

1

.

0

100

10

10

1

log

2

log

3

1

log

3

2

log

1

log

2

log

1

log

3

2

log

3

3

1

3

2

y

x

or

y

x

y

x

or

y

x

y

x

or

y

x


Answer of Ex 4c
Page 2
5-11-2001


_1066501850.unknown

_1066502829.unknown

_1066503848.unknown

_1066504230.unknown

_1066504522.unknown

_1066504539.unknown

_1066505006.unknown

_1066504282.unknown

_1066503994.unknown

_1066504020.unknown

_1066503888.unknown

_1066503523.unknown

_1066503540.unknown

_1066503228.unknown

_1066503273.unknown

_1066502441.unknown

_1066502717.unknown

_1066502752.unknown

_1066502552.unknown

_1066502221.unknown

_1066502334.unknown

_1066502168.unknown

_1066501635.unknown

_1066501769.unknown

_1066501820.unknown

_1066501659.unknown

_1066501506.unknown

_1066501543.unknown

_1066501457.unknown

